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Operation: BasicOperations.Put
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Configuration writes10 requests |errors|latency| latency | latency | RTM | RTM | RTM | RTM | RTM | RTM at |histograms
mean | std.dev max at50 | at90 | at95 | at 99 ] at 99.999.99 %
% % % % %
~ [igroups36|Cluster{default=8]Iteration) | cq 30| |} 75 1116/ 500.36 us|29.23 ms| 1.89 ms|2.13 ms| 2.2 ms|2.92 ms|3.41 ms| 8.59 ms| Ristogram
0 percentiles
v [igroupsd2|Cluster{default=8]Iteration) | cc /13| || 68 ms|564.31 us|40.89 ms|1.84 ms| 2.1 ms|2.15 ms|2.31 ms|3.36 ms|20.84 ms| Ristogram
0 percentiles
v |igroups52|Cluster{default=8] Ite"z‘“’“ 188210/ 0/1.79 ms|576.77 us|32.37 ms|1.96 ms|2.21 ms|2.29 ms|3.05 ms|3.88 ms|14.75 ms Ili—ii‘;irt‘i‘fs
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